2.2 Solving Inequalities Using Addition & Subtraction with work

2.2 Solving Inequalities by Addition and Subtraction

Ifa=bthenat+tc=b+c

Addition Property of Equality
Ifa=bthena=e=b-c

boe

Ifa>bthenate>bte¢
Ifa<bthenate<bte

Addition Property of Inequalities

Ex. 1: Solve the inequality x \§< 9
+ +S

R X £ \‘-\S
Set builder notation:
x| xet s

Check the solution:

Graph the solution
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% Subtraction Property of Ifa>bthenage>bsae
Inequalities Ifa<bthen ase<bee

Ex. 2: Solve: x§‘§3>-2
-> 3 @%b
\ X >—‘—_>| )

oL
Write all inequality
Ex. 3: Solve: -3>x-K95) solutions with the
- S variable on the left!
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Inequality Verbal Expressions:

A\

n — —
Examples: A number decreased by 8 is at most 14.

h—%< 4

A number increased by 7 is no less than 2.

graphing: open circle for < and >
closed circle for < and >

You try: solve, set builder notation, graph

1. 9<b+4 2. t\7>5 3. 7+ 3 > x-={(-4)

Et7 " —IQ?Xﬂ
i"\‘cﬂfg\ x|

2
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Accircuit overloads at TBO0 wats of electricity, You plug a microwave oven thal uses
1 100 watts of electricity into the circuil.

a. Write and solve an inequality that represents how many watts you can add to the
circuit without overloading the circuit.

h. In addition to the microwave oven, which of the following appliances can you plug
into the circuit at the same tme without everloading the circuit?

a)
Appliance Watts
Clock radio 50 lé‘QSO + X L W@
Blender 300 - O __—\\ 00
Hewt plate 12000}

Toaster 200 .Xé _] 0 O S
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2.2 Add/Sub Inequalities

A: 14 - 28 (e), 31, 32, 38 - 46 (e)
B:1-6,8-24 (M4), 22, 31, 32, 34, 39 - 44 w/o calculator
C:1,3,5,12,16, 22, 31, 32, 41, 44
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